
 

 

  

 

 

 

 

 

 

  

Name ________________________ 

Testing Guesses – Student 
Worksheet 

 

Farmers need a good fall of rain before planting.  
For wheat they need 20mL of rain to soak the soil.  

 

Guess which container would hold 20mL of water exactly.  

A bucket, a cool drink bottle or four teaspoons?  

 

 

 

 

 

 

 

 

 

My guess _______________________________________ 

 

Let’s test the guess! 

A teaspoon holds 5mL. Colour in five blocks for each teaspoon. 
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11 12 

 

13 14 15 16 17 18 19 20 

 

How many teaspoons do we need? _______________ 
 

 

 

 

 

 

 

 

 


